
RTX

EP

AV

CS

IN

EL

AV

TO

PS

BV

1-800-247-9653  •  225 Airport Circle, Corona, CAPrices Subject to Change Without Notice 79

2 STROKE STARTERS

3
4

73

6

5

3
13

9
11

15

1

27
28
29

30

22

21

26

24

23

32

31

33

34

16

17

4141414141

19
20

18

25

2

Item
No. Part No Description Qty. 

Req. Price

3 945-752 LOCK WASHER A8 5 $0.21
4 240-081 ALLEN SCREW M8X25 DIN 912 2 $1.26
6 240-276 HEX. SCREW M8X25 2 $1.26
7 242-209 HEX. NUT M8 2 $0.56
9 853-775 STARTER SUPPORT 1 CALL

11 841-510 TAPTITE SCREW 1/4-2OUNCX3/4 1 $2.09
13 940-580 HEX. SCREW M8X16 1 $1.09
28 244-211 WASHER 6,4 DIN 134 1c $0.21
29 945-751 LOCK WASHER A6 DIN 128 1 $0.21
30 842-430 HEX. NUT 1/4 1 $22.34
33 945-751 LOCK WASHER A6 DIN 128 2 $0.21
34 841-395 HEX. 2 $9.03

Items not illustrated 
a	 with ring gear holder
b 	without ring gear holder
c	 brush holder, not available as spare part, use end frame assembly 866-555.

ROTAX 503 UL
ELECTRIC STARTER,
CONFIGURATION PTO-SIDE

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/945-752.php
https://www.cps-parts.com/catalog/pnpages/240-081.php
https://www.cps-parts.com/catalog/pnpages/240-276.php
https://www.cps-parts.com/catalog/pnpages/242-209.php
https://www.cps-parts.com/catalog/pnpages/853-775.php
https://www.cps-parts.com/catalog/pnpages/841-510.php
https://www.cps-parts.com/catalog/pnpages/940-580.php
https://www.cps-parts.com/catalog/pnpages/244-211.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/842-430.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/841-395.php
https://www.cps-parts.com/catalog/pnpages/866-555.php
https://www.cps-parts.com/catalog/pnpages/240-081.php
https://www.cps-parts.com/catalog/pnpages/940-580.php
https://www.cps-parts.com/catalog/pnpages/841-510.php
https://www.cps-parts.com/catalog/pnpages/240-276.php
https://www.cps-parts.com/catalog/pnpages/242-209.php
https://www.cps-parts.com/catalog/pnpages/945-752.php
https://www.cps-parts.com/catalog/pnpages/945-752.php
https://www.cps-parts.com/catalog/pnpages/945-752.php
https://www.cps-parts.com/catalog/pnpages/842-430.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/244-211.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/853-775.php
https://www.cps-parts.com/catalog/pnpages/841-395.php

